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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering Sem. - V - Examination — June- 2011
Subject code: 355405

Subject Name: Cost Accounting
Date:27/06/2011 Time: 02:30 pm — 05:00 pm
Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. English version is Authentic

Q.1 (@)  Write short note on:- (1) Halsey plan (2) Rowan plan 07
(b) Explain certified work and uncertified work. 07
Q.2 (@) Explain normal Loss and abnormal Loss. 07
(b)  State the basis of appropriation for the following expenses: 07
(1) Rent and rates (5) Indirect wages
(2) Lighting (6) Depreciation
(3) Canteen Exp. (7) Power
(4) Insurance
OR
(b)  For the production of a product standard was pre-decided that 07

1500kg of raw material will be used at a standard rate of Rs.20/- per
kg. But during the actual production it was used 1515kg at a rate of
Rs.21 per kg, calculate Material Price Variance, Material Usage
Variance and Material Cost Variance.

Q.3 From the following information calculate labour turnover rate as per 14
(a) The Separation Method (b) Replacement Method and
(c) Composite Method
Number of workers as on 1-1-2010 270
Number of workers resigned 27
Number of workers discharged 8
Number of workers retired 9
Number of workers newly appointed 36
Number of workers as on 31-1-2010 330
OR
Q.3 Prepare Machine Hour rare computation to cover the overhead 14
expenses indicated below relating to the particular machine.
Particulars Amt. Rs.
Rent of Department 156
Lighting (2 men engaged out of 12 men 288
on this machine)
Insurance 36
Cotton, waste, oil etc. 60
Salary of Foremen 1,500

The cost of machine is Rs.9,200 and estimated scrap value of
Rs.200.
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It is assumed from past experience.that:-

(1) The machine will work for 1800 hours per annum.

(2) It will incuur expenditure of Rs.1,125 for repars and
maintenance.

(3) It consumes power 30 paisee per hour.

(4) The working life of the machine will be 18,000 hours.

The following details are extracted from the costing records of an oil
mill for the year ending 31* March, 2010.
Purchases: 100 tons oil seeds at Rs.5000/-

Particulars Crushing Refining Finishing

Process Rs. | Process Rs. | Process Rs.
Cost of labour 5,000 3,500 4,500
Sundry Store 1,000 3,000 500
Electricity 2,000 1,750 1,000
Steam 1,500 1,250 1,000
Factory expenses 2,500 2,000 1,500
Cost of casks 11,750

60 tons of crude oil was produced by the crushing process, 51 tons
of oil was produced by the Refining Process and 50 tones of refined
oil was finished for sale.
Oil seeds sacks were sold for Rs.500. 35 tons of oil seeds residue
was sold for Rs.10,500/-. Loss in weight in crushing was 5 tons, 8.5
tons of by products was obtained from Refining Process was valued
at Rs.12,750.
Prepare each process Account. Calculate at the end of each process
the cost of production per ton and determine the total cost per unit of
finished oil.

OR
One contractor started a contract on 1/1/2010 which was finished on
31/10/2010. From the following information relating to this

contract, prepare contract account. .

Particular Amt. Rs.
Material (Direct Purchase) 1,200
Materil from stores 500
Direct wages 2,200
Direct Expenses 300
Architect Fee 500
Indirect Expenses 800
Depreciation on Plant 200
Materials return to the stores 240
Contract price 8,000

Shreenath Travels has been given a route of 40 kilometers (one way)
for running buses. The company has two buses, each costing

Rs.1,10,000/- and realize scrap value of Rs.14,000/- at the end of

its estimated life of 10 years. From the following information
calculate cost per passenger kilometer.
Particulars Amt. Rs.
Annual tax for each bus 2,100
Total Garage Rent per month (For two buses) 1,200
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Annual repairs for each bus 3,000
Driver’s salary for each bus per month 900
Conductor’s salary for each bus per month 600
Adm. Expenses Per month (For both buses) 4,800
Diesel and oil per 100kms. 50

Insurance charges 3% p.a.

Each bus will make four trips per day carrying on an average 50
passengers. The bus will run on an average for 25 days in a month.

OR
The following information is extracted from the financial; accounts 14
of a company for the year ending on 31% March, 2010.
Particulars Amt. Rs.

Materials 5,000
Carriage 100
Factory Charges 1200
Selling Expenses 650
Sales 12400
Direct wages 3400
Administrative Expenses 450
Debenture interst 100

The cost Accounts showed a profit of Rs. 1,627 for the year. In cost
Accounts, indirect expenses are recovered as under:-

Factory Overheads Rs.1,150

Office overheads Rs. 459 and

Selling and Distribution Overheads Rs. 664/-.
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